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ok YN KE No | No | BFEREE i B [\ o | R e | 78 | N | o | o | 7 [ | o | e e | | e [ B | e R [ |
1] 21 BHEXE 4402 4402 REMHE E@ELAY 3 3 3 1 1 1 4
2| 1 BEXE 4465 4465 T 10 =1 -3 pi-$ 1o 0] 2 2 2 4 4 4 6
3| 20 BEXE 4492 4492 XFHTH X% 1 1 1 8 8 8 9
4| 19 BiEXE 4354 4354 w*EE AFDERE 71 7 7 2 2 2 9
5| 103 hRKE 4484 4484 TR#ES WEBE 6| 6 6 3 3 3 9
6| 2 BAXE 4425 4425 EMRE Heo0E 4 4 4 5 5 5 9
7| 97 EfEXE 4208 4346 LJlEES KR 5 5 5 7 7 7 12
8| o6 RRBERS 4237 | 4237 BHE EAthE G 8| 8 8 6 6 6 14
9| 36 IEKRFE 4284 | 4284 E&HTH PN DE) 9ol of 9 9o 9 9 18
10| 15 EBKFE 4173 4306 nEEFNE BEkRw 10| 10| 10| 10| 10| 10 20
11| 65 HRBHEXS 3728 3728 BERFE mEGS 11| 11| 11|DNF |DNF 15 26
12| 90 HEKRFE 4013 4013 REERE AhEE 12| 12| 12|RET |RET 15 27
13| 88 BEXFE 3920 3920 BERFR EHLVT 13| 13| 13|RET |RET 15 28
1| n THIEKRS 4212 4212 pipEE G 14| 14 14|RET |RET 15 29
X8 Bh Bh
B 190° 210°
BE 10knot 11knot
RE—R A 108%105:00F) 118$205:00F)
4= B4l (Top) 1085455 20F> 118$524)35F)
T4=v>akY (Last) 1085543 20F) 12811 5}00F)
F A =] B 5 L—RFEE




